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import sys

sys.path.append("statlib™)



from multi import logistic
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import numpy as np

import matplotlib.pyplot as plt

def graph(y, a, b, c):
X = np.arange(len(y)) + 1
x0 = np.min(x)
x1 = np.max(x)
delta = (x1-x0)*0.05
x2 = np.arange(x0-delta, xl+delta, (x1-x0+2*delta)/500)
y2 = a / (1 + b*np.exp(-c*x2))
plt.scatter(x, y, c="black", s=9)
plt.plot(x2, y2, linewidth=0.5, color="red")
plt.xlabel ("x")
plt.ylabel("y")
plt.show ()

import sys
sys.path.append("statlib™)
from multi import logistic




y = [2.9, 5.2, 9.1, 15.5, 25.0, 37.8, 52.6, 66.9, 78.6, 87.0, 92.4,
95.7, 97.6, 98.6, 99.2]
ans = logistic(y)

y=a/ (1 +b* exp(-c * x))
a =99.1062, b = 60.7564, c = 0.605524
X y pred. resid.
0 1 2.9 2.901223 -0.001223
1 2 5.2 5.189233 0.010767
2 3 9.1 9.110771 -0.010771
3 4 15.5 15.506534 -0.006534
4 5 25.0 25.138002 -0.138002
5 6 37.8 38.030374 -0.230374
6 7 52.6 52.813748 -0.213748
7 8 66.9 67.036298 -0.136298
8 9 78.6 78.586916 0.013084
9 10 87.0 86.744501 0.255499
10 11 92.4 91.954133 0.445867
11 12 95.7 95.070403 0.629597
12 13 97.6 96.862005 0.737995
13 14 98.6 97.868622 0.731378
14 15 99.2 98.426898 0.773102

graph(y, ans["a"], ans["b"], ans["c"])
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